

**INVOICE** 

Invoice No.

174701

Invoice Date 9/30/22

**SERVICE** 

Invoice To BERRIEN, COUNTY OF 701 MAIN STREET SAINT JOSEPH MI 49085

Ship To: BERRIEN, COUNTY OF 701 MAIN STREET SAINT JOSEPH MI 49085

## **INFORMATION**

Job Number:	37902	Due Date:	11/14/2022	Customer Code.:	BERR0003
Service Date:	9/2/22	Taken By:	DJOHNS	Site Code:	_MAIN
Branch:	1100	Make:	· VA	Site Contact:	
P.O. No.:	22002287	Model:	2100	Phone:	
Equip. No:	22099	Equip. Desc:	2100	Serial No.:	01-05-7739
Customer Eq. No:	A93	• •		Chassis VIN:	

## **NOTES**

## Service Job Notes:

NOTE ALL REPAIRS PERFORMED IN CONJUNCTION WITH REVISED ESTIMATE 37902 NOTE P.O.# ISSUED ON 5-13-2022

## **DETAILS**

Qty	Type	Part No.	Description	Rate	Price	Tax	Amount
1.00	PART	VA-65618	AIR DUCT WELDMENT	\$2,803.49	\$2,523.14	\$0.00	\$2,523.14
2.00	PART	VA-62047C	HIGH PRESSURE BLOCK - RODDER P	\$280.20	\$560.40	\$0.00	\$560,40
1.00	PART	VA-16068A	DIFFUSION HUB MODIFICATION	\$736.03	\$662.43	\$0.00	\$662.43
8.00	PART	VA-16071	INVOLUTE SPACER BLADE	\$54.30	\$434.40	\$0.00	\$434.40
40.00	PART	VA-16333H	SHCS, FLAT, 1/4-20X4, SS	\$0.85	\$34.00	\$0.00	\$34.00
2.00	PART	VA-16399B	PILLOW BLOCK BEARING - 2IN	\$133.74	\$267.48	\$0.00	\$267.48
2.00	PART	VA-16585	GASKET 8IN RUBBER,8 HOLES (NO N	\$8.95	\$17.90	\$0.00	\$17.90
2.00	PART	VA-20358	LIGHT - WARNING LIGHT-RED 12V	\$14.70	\$29.40	\$0.00	\$29.40
2.00	PART	VA-25502	FLEX BRACKET WELDMENT	\$167.91	\$335.82	\$0.00	\$335.82
1.00	PART	VA-29126	GASKET	\$8,93	\$8.93	\$0.00	\$8.93
1.00	PART	VA-29149	SEAL	\$24.52	\$24.52	\$0.00	\$24.52
1.00	PART	VA-33836	OUTER HOUSING WELD ASSEMBLY	\$3,436.13	\$3,092.52	\$0.00	\$3,092.52
1.00	PART	VA-43921	CHAIN HALF LINK	\$6.68	\$6.68	\$0.00	\$6.68
8.00	PART	VA-44580	SHSS, 1/2X1, ZN	\$4.81	\$38,48	\$0.00	\$38.48

PLEASE SEE OUR TERMS AND CONDITIONS ON OUR WEBSITE DOHENYCOMPANY.COM



INVOI	CE	Invoice No.	174701	Invoice Date	9/30/22		SERVICE
DETAILS	3			***			
Qty Type 1.00 PART	<b>Part No.</b> VA-44581B	Description SPRING,SS,3	/8X16 LG	<b>Rate</b> \$10.89	<b>Price</b> \$10.89	<b>Tax</b> \$0.00	Amount \$10.89
2.00 PART	VA-45556A	SEAL KIT FOR	R 45556	\$88.49	\$176.98	\$0.00	\$176.98
6.00 PART	VA-45731	EXPANSION F	PLUG 2IN	\$17.76	\$106.56	\$0.00	\$106.56
1.00 PART	VA-45947D	HYD CYLINDE	ER 3X10,TRUNNION	\$515.61	\$515.61	\$0.00	\$515.61
2.00 PART	VA-46644	VALVE,HYD,S	ELECTOR	\$148.60	\$297.20	\$0.00	\$297.20
1.00 PART	VA-54101H	PIPE EXTENS		\$243.91	\$243.91	\$0.00	\$243.91
1.00 PART	VA-58634	WELDMENT,8 SPACER WEL HOUSING		\$1,280.13	\$1,152.12	\$0.00	\$1,152.12
2.00 PART	VA-59825		L 110 TELE BOOM	\$33.84	\$67.68	\$0.00	\$67.68
10.00 PART	VA-59826		GMENT-110 TELE	\$15.24	\$152.40	\$0.00	\$152.40
2.00 PART	VA-59827	BOOM REPLACED B	Y 59827C-30	\$42.76	\$85.52	\$0.00	\$85.52
1.00 PART	VA-60510M		DE ASSY,DOUBLE	\$838.29	\$838.29	\$0.00	\$838.29
1.00 PART	VA-62031	ROLLE INNER TUBE	WELDMENT	\$964.63	\$964.63	\$0.00	\$964.63
1.00 PART	VA-62084		1 SUCTION TEE	\$195.32	\$195.32	\$0.00	\$195.32
4.00 PART	VA-81935D	CROSSO BUSHING, PO	OLYETHELENE	\$16.07	\$64.28	\$0.00	\$64.28
2.00 PART	VA-507171	2IN DISCHAR	GE VALVE ASSY	\$283.01	\$566.02	\$0.00	\$566.02
2.00 PART	VA-507349	CHECK VALV	E, 3IN	\$436.27	\$872.54	\$0.00	\$872.54
1.00 PART	VA-66778K		Γ,STL,10GAX17.500X8	\$608.04	\$608.04	\$0.00	\$608.04
1.00 PART	VA-66780A	0, RODDER PUI WELDMENT	MP MOUNT	\$1,136.32	\$1,022.69	\$0.00	\$1,022.69
4.00 PART	VA-16359S	NUT,HEX,3/4	-16,GR2,Z/C	\$2.90	\$11.60	\$0.00	\$11.60
2.00 PART	VA-31975	PIN,1DIAX3.1	25	\$20.35	\$40.70	\$0.00	\$40.70
1.00 PART	VA-35568	WEAR PLATE	_	\$223.97	\$223.97	\$0.00	\$223.97
1.00 PART	VA-35594	DOOR SEAL	255IN LONG	\$578.21	\$578.21	\$0.00	\$578.21
2.00 PART	VA-35783	PIN - 1.000 D	IA X 4.813	\$15.42	\$30.84	\$0.00	\$30.84
1.00 PART	VA-36114A	BODY WASH	OUT HEAD (NOZZLE)	\$275.36	\$275.36	\$0.00	\$275,36
4.00 PART	VA-40210	PIN - YOKE P	IN ASSEMBLY	\$3.97	\$15.88	\$0.00	\$15.88
4.00 PART	VA-40806	ADJUSTABLE	YOKE END	\$45.70	\$182.80	\$0.00	\$182.80
1.00 PART	VA-45066C	CYL,HYD, RE	PLACE BY 45066E-30	\$591.32	\$591.32	\$0.00	\$591.32
1.00 PART	VA-49654-SF	SEAL ASSEM	BLY	\$471.91	\$471.91	\$0.00	\$471.91
4.00 PART	VA-500270A	FLOAT BALL	TOP PLATE WELD.	\$325.20	\$1,300.80	\$0.00	\$1,300.80
2.00 PART	VA-59425	MOUNTING E PROP	BRACKET, DOOR	\$20.90	\$41.80	\$0.00	\$41.80

248-349-0904

0 2 0 info@dohenycompany.com dohenycompany.com



IN	INVOICE		voice No.	174701	Invoice Date	9/30/22		SERVICE
DET	'AILS							
<b>Qty</b> 1.00	<b>Type</b> PART	Part No. VA-62001E	Description RECESS CHA	NNEL WELDMENT	<b>Rate</b> \$2,018.83	<b>Price</b> \$1,615.06	<b>Tax</b> \$0.00	Amount \$1,615.06
1.00	PART	VA-62196	AIR PIPE WE	LDMENT	\$1,170.51	\$1,170.51	\$0.00	\$1,170.51
1.00	PART	VA-62227	DEBRIS INLE	T WELDMENT	\$794.46	\$794.46	\$0.00	\$794.46
1.00	PART	VA-66468	HORIZONTAL	. CROSS ROD	\$258.12	\$258.12	\$0.00	\$258.12
2.00	PART	VA-85809	WEAR PLATE	<u> </u>	\$80.28	\$160.56	\$0.00	\$160.56
41.00	LABOR	SLIZ	GENERAL LA	BOR	\$125.00	\$5,125.00	\$0.00	\$5,125.00
4.00	LABOR	PFEI	GENERAL LA	BOR	\$125.00	\$500.00	\$0.00	\$500.00
1.00	PART	V3-62180R	MODIFIED RO	DDDER PUMP	\$8,500.00	\$8,500.00	\$0.00	\$8,500.00
7.50	LABOR	FUGA	GENERAL LA	BOR	\$125.00	\$937.50	\$0.00	\$937.50
37.00	LABOR	SHUN	GENERAL LA	BOR	\$125.00	\$4,625.00	\$0.00	\$4,625.00
61.00	LABOR	MART	GENERAL LA	BOR	\$125.00	\$20,125.00	\$0.00	\$20,125.00
1.00	PART	VA-81845	TANK		\$4,712.78	\$4,241.50	\$0.00	\$4,241.50
1.00	PART	VA-81846	TANK	R,28IDXINAIN,GENER R,28IDXINAIN,GENER	\$4,710.06	\$4,239.05	\$0.00	\$4,239.05
1.00	PART	VA-84608FD	,	NEW RODDER RELAY LATCHING		\$80.75	\$0.00	\$80.75
1.00	PART	VA-43413		LLED ANGLE 6IN	\$42.39	\$42.39	\$0.00	\$42.39
1.00	PART	VA-26861	SLOTT RUBBER GAS	SKET	\$5.47	\$5.47	\$0.00	\$5.47
1.00	PART	VA-39892F	COVER PLAT	E, 10GA, 8-1/2 DIA	\$12.60	\$12.60	\$0.00	\$12.60
1.00	PART	VA-32087	QUICK CLAM	P 6IN, J-HOOK	\$34.92	\$34.92	\$0.00	\$34.92
2.00	PART	V3-500272AJD	FLOAT BALL	SCREEN, P	\$250.00	\$500.00	\$0.00	\$500.00
1.00	PART	ZZ-BPCPL3/4	3/4" BLACK P	IPE CPLG	\$4.31	\$4.31	\$0.00	\$4.31
1.00	PART	ZZ-BPCPL1/2	1/2" BLACK P	IPE CPLG	\$3.25	\$3.25	\$0.00	\$3.25
1.00	PART	ZZ-BPCPL1	1" PIPE COU	PLING	\$8.75	\$8.75	\$0.00	\$8.75
1.00	PART	VA-63446	PLATE,PUMP PUMP O	MTG,INTERNAL	\$155.83	\$155.83	\$0.00	\$155.83
2.00	PART	VA-62463		CAGE SHROUD	\$163.38	\$326.76	\$0.00	\$326.76
1.00	PART	VA-46516A	TOGGLE BOL	T CLAMP	\$35.27	\$35.27	\$0.00	\$35.27
1.00	PART	HF-5000-16-16	1FP ST COUF	PLING	\$13.13	\$13.13	\$0.00	\$13.13
2.00	PART	VA-59430	DOOR PROP	WELDMENT	\$263.10	\$526.20	\$0.00	\$526,20
!27.25	LABOR	STRAUB	GENERAL LA	BOR	\$125.00	\$28,406.25	\$0.00	\$28,406.25
1.00	PART	VA-66776	MOUNTING B	RACKET - R/H	\$151.79	\$151.79	\$0.00	\$151.79
1.00	PART	HF-6840-20-20	1-1/4MJ X 1-1	/4 61 F	\$27.92	\$27.92	\$0.00	\$27.92
2.00	PART	H1-8X62	8"X 62" DEBR	IS HOSE	\$350.00	\$700.00	\$0.00	\$700.00



NVOICE		Invoice No.		174701	Invoice Date	9/30/22		SERVICE
DET	AILS					•		····
<b>Qty</b> 1.00	Type PART	Part No. H1-SPOR-MM16 X600-PLASTIC	Description 1 IN X 600 FT 25	00 PSI HOSE	Rate \$1,950.00	<b>Price</b> \$1,950.00	<b>Tax</b> \$0.00	Amount \$1,950.00
1.00	PART	V3-31096DMFJD	1"X25'LEAD HOS	SE MXF	\$130.00	\$130.00	\$0.00	\$130.00
2.00	PART	V3-40052JD	SWIVEL JOINT,1	<b>!</b>	\$215.00	\$430.00	\$0.00	\$430.00
1.00	PART	V3-44622JD	SWITCH,TOGGL	.E,MOMEN	\$35.52	\$35.52	\$0.00	\$35.52
1.00	PART	V3-45548HJD	BEARING,HARD	ENED RA	\$690.00	\$690.00	\$0.00	\$690.00
2.00	PART	VA-45552	AIR CYLINDER	BRACKET	\$7.06	\$14.12	\$0.00	\$14.12
2.00	PART	V3-45587JD	AIR CYLINDER -	- 1.5 X	\$108.11	\$216.22	\$0.00	\$216.22
1.00	PART	V3-46846DJD	GAUGE,PRESS,	0-5000P	\$35.00	\$35.00	\$0.00	\$35.00
2.00	PART	V3-47550AJD	CONTROL VALV	E - 4 WA	\$50.00	\$100.00	\$0.00	\$100.00
2.00	PART	V3-47550JD	CONTROL VALV	E - 3 WA	\$50.06	\$100.12	\$0.00	\$100.12
3.00	PART	V3-58795JD	8" HOSE END S	TANDARD	\$75.00	\$225,00	\$0.00	\$225.00
2.00	PART	V3-60901JD	BRONZE BEARI	NG .250	\$17.99	\$35.98	\$0.00	\$35.98
2.00	PART	V3-61233JD	BRONZE BEARI	NG .375	\$22.84	\$45.68	\$0.00	\$45.68
2.00	PART	V3-61297DJD	BLOCK,STOP TO	OOTH OFFSET	\$53.00	\$106.00	\$0.00	\$106.00
2.00	PART	V3-67800EJD	BOTTOM WELD	BLOCK	\$94.35	\$188.70	\$0.00	\$188.70
2.00	PART	V3-67800FJD	BLOCK,TOP BOI	LTING	\$63.97	\$127.94	\$0.00	\$127.94
4.00	PART	DX-ST35	3IN MALE NPT O		\$20.53	\$82.12	\$0.00	\$82.12
1.00	PART	V3-41268JD	Y-STRAINER 3"		\$325.00	\$325.00	\$0.00	\$325.00
1.00	PART	V3-45277AJD	PRESSURE SW	ITCH 500	\$121.66	\$121.66	\$0.00	\$121.66
4.00	PART	V3-45727JD	3" T-BOLT CLAM	P	\$5.75	\$23.00	\$0.00	\$23.00
14.00	PART	V3-45824JD	HOSE,WATER,3	XBULK	\$9.00	\$126.00	\$0.00	\$126.00
1.00	PART	V3-46581JD	BALL VALVE - 3/4	4	\$60.00	\$60.00	\$0.00	\$60.00
1.00	PART	VA-69259	BALL VALVE DR	AIN INSTALLATION	\$419.09	\$419.09	\$0.00	\$419.09
1.00	PART	V3-MMA144	3 IN LEVER VAL	VE NPT X NPT	\$190.93	\$190.93	\$0.00	\$190.93
2.00	PART	ZZ-BPCN3	3" CLOSE NIPPL	.E	\$28.86	\$57.72	\$0.00	\$57.72
2.00	PART	ZZ-BPEL3X90	3"" X 90* ELBOV	V	\$56.83	\$113.66	\$0.00	\$113.66
2.00	PART	DX-300-DC	3IN DIXON DUS	T CAP ALUMINUM	\$29.87	\$59.74	\$0.00	\$59.74
2.00	PART	DX-300-F	3IN ALUM MALE ADAPTER	NPT X MALE	\$27.82	\$55.64	\$0.00	\$55.64
1.00	PART	DX-600-C		COUPLER X HOSE 26/B-26M	\$142.85	\$142.85	\$0.00	\$142.85
1.00	PART	HF-5404-16	1"MALEXMALE N	NPT HEX	\$5.00	\$5.00	·\$0.00	\$5.00
1.00	PART	HF-5406-20-16	1-1/4MP X 1FP B	USHIN	\$10.43	\$10.43	\$0.00	\$10.43



<u> </u>	/OICE	Invoice No.		174701	Invoice Date	9/30/22		SERVICE
DET	AILS							
<b>Qty</b> 12.00	<b>Type</b> PART	Part No. KA-160BL6	<b>Description</b> 6" LAY FLAT H	IOSE	<b>Rate</b> \$3.99	<b>Price</b> \$47.88	<b>Tax</b> \$0.00	Amount \$47.88
8.00	PART	V3-40797AJD	HIGH PRESSU	URE WASH N	\$7.50	\$60.00	\$0.00	\$60.00
1.00	PART	V3-85252-ASSM JD	6™ LEVER VA	LVE BUI	\$695.67	\$695.67	\$0.00	\$695.67
1.00	OTHER	MISC PART	PAINT SUPPL	IES	\$1,034.51	\$1,034.51	\$0.00	\$1,034.51
2.00	PART	VA-49959A	BAND CLAMP	, SS, 9-5/8	\$33.55	\$67.10	\$0.00	\$67.10
2.00	PART	V3-42594JD	CLAMP,8,DOL	JBLE BOLT	\$38.00	\$76.00	\$0.00	\$76.00
1.00	PART	VA-45952	SENSOR - LIC	QUID LEVEL SENSOR	\$89.94	\$89.94	\$0.00	\$89.94
1.00	PART	JS-4050-2	FEMALE BOD	Y 1P710-13	\$15.50	\$15.50	\$0.00	\$15.50
1.00	PART	JS-4010-2	MALE TIP 1P7	10-13820	\$7.25	\$7.25	\$0.00	\$7.25
3.00	PART	VA-20188A		PLER 1/2IN FNPT	\$46.79	\$140.37	\$0.00	\$140.37
1.00	PART	V3-16585AJD	BRASS GASKET, 8" R	RUBBER	\$6.25	\$6.25	\$0.00	\$6.25
3.00	PART	V3-16585JD	GASKET 8" R	UBBER	\$6.25	\$18.75	\$0.00	\$18.75
1.00	PART	V3-61232JD	BRONZE BEA	RING ,375	\$34.12	\$34.12	\$0.00	\$34.12
1.00	PART	VA-60896	BEARING SHI	M .048 X 2 X 3.5	\$6.24	\$6.24	\$0.00	\$6.24
1.00	PART	VA-60899	BEARING SHI	M .048 X 2 X 2	\$8.52	\$8.52	\$0.00	\$8.52
1.00	PART	ZZ-BPTEE3	3" BLACK PIF	PE TEE	\$81.17	\$81.17	\$0.00	\$81.17
1.00	PART	ZZ-BPN3X18	3" X 18" NIPPI	LE	\$74.25	\$74.25	\$0.00	\$74.25
40.00	PART	VA-16363C	HN, MARSDN	, 1/4-20, G5, Z/Y	\$1.36	\$54.40	\$0.00	\$54.40
1.00	PART	ZF-7791	OIL FILTER		\$22.10	\$22.10	\$0.00	\$22,10
1.00	PART	ZF-3626	FUEL FILTER		\$22.92	\$22.92	\$0.00	\$22.92
1.00	PART	ZF-6981	CAB AIR FILT		\$30.78	\$30.78	\$0.00	\$30.78
1.00	PART	ZF-600091	FUEL FILTER	JD	\$30.48	\$30.48	\$0.00	\$30.48
1.00	PART	ZF-2676	AIR FILTER/D	EERE	\$65.33	\$65.33	\$0.00	\$65.33
1.00	PART	ZF-2648	SECONDARY	AIR FILTER	\$44.33	\$44.33	\$0.00	\$44.33
1.00	PART	ST-TP0300301	TRASH PUMP	P-CE MODEL	\$1,575.00	\$1,575.00	\$0.00	\$1,575.00
1.00	PART	VA-62637	PUMP MOUN	TING PLATE	\$88.34	\$88.34	\$0.00	\$88.34
2.00	PART	KA-POWERLOC K3	3 INPOWERL	OCK CLAMP	\$12.87	\$25.74	\$0.00	\$25.74
4.00	PART	KA-180AR3	3 IN ABRASIC	N RES HO	\$9.10	\$36.40	\$0.00	\$36.40
1.00	PART	DX-300-C	3IN ALUM FEN SHANK	M COUPLER X HOSE	\$43.33	\$43.33	\$0.00	\$43.33
2.00	PART	DX-F14	CENTER PUN	ICH PREFORMED 3-1/2IN ID (50	\$1.88	\$3.76	\$0.00	\$3.76

PLEASE SEE OUR TERMS AND CONDITIONS ON OUR WEBSITE DOHENYCOMPANY.COM

5 8 9



IN	/OICE	Inv	oice No. 174701	Invoice Date	Date 9/30/22		SERVICE
DET	AILS						
Qty 25,00	<b>Type</b> PART	Part No. KA-160BL3	Description 3" LAY FLAT HOSE	<b>Rate</b> \$1.95	<b>Price</b> \$48.75	<b>Tax</b> \$0,00	Amount \$48.75
1.00	PART	HF-6602-16-16-1 2	1" X 1" X 3/4" RUN T	\$53.00	\$53.00	\$0.00	\$53.00
1.00	PART	ZZ-BPN3X8	3" X 8" NIPPLE	\$48.96	\$48.96	\$0.00	\$48.96
1.00	PART	VA-58322	HOSE BASKET WELDMENT - 25F	T. \$125.83	\$125.83	\$0.00	\$125.83
1.00	PART	HF-2501-L-12-12	3/4MJ X 3/4MP 90 X-L	\$6.60	\$6.60	\$0.00	\$6.60
1.00	PART	HF-2501-LL-08-0 8	1/2MJ X 1/2MP 90 X-L	\$12.12	\$12.12	\$0.00	\$12.12
1.00	PART	о HF-2501-8-8	1/2MJ X 1/2MP 90 ELB	\$7.77	\$7.77	\$0.00	\$7.77
1.00	PART	HF-2501-12-12	3/4MJ X 3/4MP 90 ELB	\$9.85	\$9.85	\$0.00	\$9.85
2.00	PART	TX-F2-0808-JFS	0808 JIC FEMALE SWIVEL	\$6.72	\$13.44	\$0.00	\$13.44
1.00	PART	TX-F2-0808-PF	0808 NPT SOLID FEMALE	\$17.62	\$17.62	\$0.00	\$17.62
1.00	PART	TX-F2-1212-JFS	1212 JIC FEMALE SWIVEL	\$11.88	\$11.88	\$0.00	\$11.88
1.00	PART	TX-F2-1212-JM	1212 JIC MALE	\$12.95	\$12.95	\$0.00	\$12.95
2.00	PART	VA-40576	VALVE,BALL,1IN 6000 PSI	\$175.62	\$351.24	\$0.00	\$351.24
1.00	PART	VA-46581	BALL VALVE - 3/4IN 6000 PSI	\$143.84	\$143.84	\$0.00	\$143,84
2.00	PART	VA-45551	AIR CYLINDER - 1.0625IN X 1IN S	T \$64.95	\$129.90	\$0.00	\$129.90
1.00	PART	ZZ-BPSTEL3	3™ STREEL EL	\$98.62	\$98.62	\$0.00	\$98.62
1.00	PART	ZF-7243	OIL FILTER	\$24.62	\$24.62	\$0.00	\$24.62
1.00	PART	ZF-3118	FUEL	\$14.07	\$14.07	\$0.00	\$14.07
1.00	PART	ZZ-UC312	3-1/2" U CLAMP	\$11.15	\$11.15	\$0.00	\$11.15
1.00	PART	VA-41689	KNOB	\$27.54	\$27.54	\$0.00	\$27.54
2.00	PART	TX-F2-0606-JFS	0606 JIC FEMALE SWIVEL	\$5.51	\$11.02	\$0.00	\$11.02
7.00	PART	TX-HB5K-6	3/8IN ISOBARIC BRAID 5,100 PSI	\$3.25	\$22.75	\$0.00	\$22.75
18.00	PART	TX-HB5K-8	TERA-GLIDE CVR 1/2IN ISOBARIC BRAID 5,100 PSI TERA-GLIDE CVR	\$3.25	\$58.50	\$0.00	\$58.50
1.00	PART	TX-F2-0808-JFS 90M	0808 JIC FEMALE SWIVEL 90° BENT TUBE MEDIUM DROP	\$15.11	\$15.11	\$0.00	\$15.11
3.00	PART	TX-HB3K-16	1IN ISOBARIC BRAID 3,000 PSI	\$8.99	\$26.97	\$0.00	\$26.97
2.00	PART	TX-F2-1616-JFS	TERA-GLIDE CVR 1616 JIC FEMALE SWIVEL	\$19.49	\$38.98	\$0.00	\$38.98
1.00	PART	ZF-1746	HYDRAULIC FILTER	\$24.82	\$24.82	`\$0.00	\$24.82
2.00	PART	ZZ-AS3000	2 PIN CLEVIS	\$28.62	\$57.24	\$0.00	\$57.24
2.00	PART	ZZ-3600A	DRUMS	\$176.44	\$352.88	\$0.00	\$352.88
2.00	PART	ZZ-WK4715Q23 KSB	BRAKE SHOE KITS	\$154.66	\$309.32	\$0.00	\$309.32



<u>IN\</u>	VOICE Invoice N		oice No.	. 174701 Invoice Date				SERVICE
DET	AILS							
<b>Qty</b> 2.00	<b>Type</b> PART	Part No. ZZ-3030	Description 30/30 BRAKE (	CHAMBER	<b>Rate</b> \$65.25	<b>Price</b> \$130.50	<b>Tax</b> \$0.00	Amount \$130.50
1.00	PART	JD-DZ118764	V BELT		\$69.20	\$69,20	\$0.00	\$69.20
4.00	PART	JD-R121897	SCREW		\$3.72	\$14.88	\$0.00	\$14.88
6.00	PART	JD-123575	O RING		\$1.34	\$8.04	\$0.00	\$8.04
1.00	PART	JD-RE59438	OIL LINE		\$93,88	\$93.88	\$0.00	\$93.88
1.00	PART	JD-R123570	GASKET		\$5.59	\$5.59	\$0.00	\$5.59
1.00	PART	JD-R524481	GASKET		\$18.51	\$18.51	\$0.00	\$18.51
1.00	PART	JD-RE59355	TORSIONAL		\$661.68	\$661.68	\$0.00	\$661.68
1.00	PART	VA-27771	ELBOW WELD	MENT,70 DEGREE	\$798.09	\$798.09	\$0.00	\$798.09
1.00	PART	JS-TPH7	TRASH PUMP	HOSE	\$27.00	\$27.00	\$0.00	\$27.00
1.00	PART	JS-TPH6	TRASH PUMP	HOSE	\$42.25	\$42.25	\$0.00	\$42,25
1.00	PART	HF-6506-08-08	1/2FJ SWIVEL	X 1/2FP	\$10.91	\$10.91	\$0.00	\$10.91
1.00	PART	HF-6400-12	3/4 MJIC X 3/4	MPIPE	\$2.50	\$2.50	\$0.00	\$2.50
1.00	PART	ZZ-107794X	AD9 CART KIT		\$78.69	\$78.69	\$0.00	\$78.69
2.00	PART	SE-40052	3" REFLECTOR	₹	\$4.00	\$8.00	\$0.00	\$8.00
1.00	PART	SE-STA22702W	BACK UP ALAF	RM	\$29.95	\$29.95	\$0.00	\$29.95
1.00	PART	ZZ-BADGER-B	FIRE EXT. W/	BRK, 5LB	\$101.40	\$101.40	\$0.00	\$101.40
1.00	PART	V3-31014AVJD	1/2" X 50' LEA	o .	\$130.00	\$130.00	\$0.00	\$130.00
1.00	PART	VA-81930E	ROLLER WELL	ס	\$215.15	\$215.15	\$0.00	\$215.15
1.00	PART	ZZ-610148	5"SPOT MIRRO	OR	\$19.75	\$19.75	\$0.00	\$19.75
1.00	OTHER	OUTSIDE PART	OUTSIDE PAR	T - REAR SPRINGS	\$1,400.70	\$1,400.70	\$0.00	\$1,400.70
1.00	PART	ZF-6664	AIR FILTER		\$85,90	\$85.90	\$0.00	\$85.90
4.00	PART	ZT-M15455R	TIRE-MRT/XDF	HT 11R225	\$240.00	\$960.00	\$0.00	\$960.00
1.00	PART	VA-44861L	PENDANT COI VAC R	NTROL 7 BUTTON	\$1,130.82	\$1,017.74	\$0.00	\$1,017.74
1.00	PART	VA-191138B		T,JOYSTICK (191138)	\$29.86	\$29.86	\$0.00	\$29.86
12.00	LABOR	SNOW	GENERAL LAB	BOR	\$125.00	\$1,500.00	\$0.00	\$1,500.00
(1.00)	PART	VA-58634	SPACER WELI HOUSING	DMENT,FAN	\$1,280.13	\$(1,280.13)	\$0.00	\$(1,280.13)
1.00	PART	RC-HD78000MP	SPRING DRIVE	EN HOSE R	\$511.00	\$511.00	\$0.00	\$511.00
1.00	PART	SE-49142	THREE BAR C	LUSTER	\$56,16	\$56.16	\$0.00	\$56.16
1.00	OTHER	OUTSIDE	OUTSIDE LAB	OR RADIATOR	\$2,524.25	\$2,524.25	\$0.00	\$2,524.25
2.00	PART	LABOR JS-JDSMF-B	REPAIR JDS 24 X 15 M	UD FLAP	\$13.50	\$27.00	\$0.00	\$27.00



IN\	OICE	Inv	oice No.	174701	Invoice Date	ate 9/30/22		SERVICE
DET	AILS						··	
<b>Qty</b> 1,00	<b>Type</b> PART	Part No. V3-20189CJD	Description MALE COUPLER 1.	/2IN FNPT	<b>Rate</b> \$7.57	<b>Price</b> \$7.57	<b>Tax</b> \$0.00	Amount \$7.57
2,00	PART	SE-WDWL-1R40 W	LED WORKLIGHT-	40W	\$115.00	\$230.00	\$0.00	\$230.00
2.00	PART	VA-42507	RUBBER HAND GF	RIP	\$3.52	\$7.04	\$0.00	\$7.04
12.00	PART	V3-40787JD	TARP STRAP,W/S	HOOK	\$1.50	\$18.00	\$0.00	\$18.00
2.00	PART	V3-41280JD	SCREEN,80 MESH	,3	\$23.00	\$46.00	\$0.00	\$46.00
1.00	PART	V3-41269JD	3"CAP,Y-STRAINEI	R - KIT	\$45.25	\$45.25	\$0.00	\$45.25
9.00	PART	V3-41458AJD	TUBE,CLEAR PVC	,3/8	\$1.69	\$15.21	\$0.00	\$15.21
9.00	PART	VA-43061	RED POLYETHYLE	NE BALLS	\$1.47	\$13.23	\$0.00	\$13.23
2.00	PART	VA-46220	SPRING CLIP HOL	DER	\$2.50	\$5.00	\$0.00	\$5.00
1.00	PART	VA-41271	CAP GASKET / FOI Y-STRAINER	R 3IN	\$4.83	\$4.83	\$0.00	\$4.83
1.00	PART	FO-XC4515A424 AA	PARKING LAMP RE	٠ ،	\$75.25	\$75.25	\$0.00	\$75.25
1.00	PART	VA-16068A	DIFFUSION HUB M	IODIFICATION	\$736.03	\$736.03	\$0.00	\$736.03
1.00	PART	VA-16069	SPACER PLATE		\$834.53	\$834.53	\$0.00	\$834.53
2.00	PART	VA-47047B	LOGO, VACTOR 210	00 SERIES,BLUE	\$229.83	\$459.66	\$0.00	\$459.66
1.00	PART	VA-47002D	PTO,10 BOLT		\$6,739.16	\$5,054.37	\$0.00	\$5,054.37
65,00	PART	V3-45800JD	STRAP RUBBER 2'	ı	\$4.25	\$276.25	\$0.00	\$276.25
1.00	PART	VA-40030	BALL VALVE - 1/2IN	MINI	\$15.02	\$15.02	\$0.00	\$15.02
1.00	PART	HF-5406-16-08	1MP X 1/2FP BUSH	IING	\$6.24	\$6.24	\$0.00	\$6.24
2.00	LABOR	MAUL	GENERAL LABOR		\$125.00	\$250.00	\$0.00	\$250.00
1.00	PART	FL-A22-65848-00	PANEL D		\$146.02	\$146.02	\$0.00	\$146.02
1.00	PART	FL-A14-15444-00	COOLER		\$354.45	\$354.45	\$0.00	\$354.45
1.00	PART	ZZ-CHA1006	CHARGER CORD		\$50.00	\$50,00	\$0.00	\$50.00
1.00	PART	HF-1404-16-16	1 MP XF SWIVEL		\$12.50	\$12.50	\$0.00	\$12.50
2.00	PART	ZZ-H176	FUEL LINE 5/16		\$0.96	\$1.92	\$0.00	\$1.92
2.00	PART	ZZ-300-4009	HUB CAP		\$25.00	\$50.00	\$0.00	\$50.00
1.00	PART	VA-42640G	AIR REGULATOR 0	-100 PSI	\$42.15	\$42.15	\$0.00	\$42.15
1.00	PART	VA-44594	DISTRIBUTION BO	ARD	\$1,033.31	\$1,033.31	\$0.00	\$1,033.31
1.00	PART	SE-TACF85	ARROW BOARD		\$642.85	\$642.85	\$0.00	\$642.85
30.00	PART	ZZ-SO168	CABLE 16/8 SO JA	CKET	\$1.75	\$52.50	\$0,00	\$52.50
1.00	PART	VA-45064F	CYLINDER,HYD,WI	ELDED,3X15	\$524.92	\$524.92	\$0.00	\$524.92
16.00	LABOR	NOVO	GENERAL LABOR		\$125.00	\$2,000.00	\$0.00	\$2,000.00



<u>IN\</u>	OICE	Inv	voice No.	174701	Invoice Date	9/30/22		SERVICE
DET	AILS							
<b>Qty</b> 40.00	<b>Type</b> PART	Part No. ZZ-15W40	Description DIESEL MOTO	PR OIL(QT)	<b>Rate</b> \$4.92	<b>Price</b> \$196.80	<b>Tax</b> \$0.00	<b>Amount</b> \$196.80
11.00	PART	ZZ-SYN-ATF	SYNTHETIC A	TF - QT	\$11.71	\$128.81	\$0.00	\$128.81
3.00	PART	ZZ-ISO46-GST	COTTA OIL, Q	UARTS	\$11.94	\$35.82	\$0.00	\$35.82
5.00	PART	ZZ-ANTFRZ	ANTIFREEZE	(/GAL)	\$15.14	\$75.70	\$0.00	\$75.70
80.00	PART	ZZ-AW68	HYDRAULIC (	OIL (G)	\$18.75	\$1,500.00	\$0.00	\$1,500.00
2.00	OTHER	OUTSIDE PART	SMALL EXPAN	ISION PLUGS	\$10.13	\$20.26	\$0.00	\$20.26
1.00	PART	JS-3303-A	60 GPM 1" X 3	0 STD	\$75.00	\$75.00	\$0.00	\$75.00
1.00	PART	DA-380503	OUTPUT YOK	<b>E</b>	\$422.00	\$422.00	\$0.00	\$422.00
1.00	PART	ZZ-28-P-211	PTO OUT PUT	SEAL CHELSEY870	\$22.34	\$22.34	\$0.00	\$22.34
1.00	PART	V3-45109JD	WATER SPRA	Y HAND GUN	\$170.00	\$170.00	\$0.00	\$170.00
1.00	PART	VA-20189D	MALE COUPL	ER 1/2IN MNPT	\$5.32	\$5.32	\$0.00	\$5.32
2.00	PART	V3-16584JD	8" QUICK CLA	MP	\$25.00	\$50.00	\$0.00	\$50.00
58.00	PART	ZZ-DFUEL	DIESEL FUEL	/GAL.	\$6.25	\$362.50	\$0.00	\$362.50
1.00	PART	JS-3356-A	60 GPM 1" X 4	5* STD	\$85.00	\$85.00	\$0.00	\$85.00
1.00	PART	JS-3153-A	PROBE NOZZ	LE 10 DEG	\$75.00	\$75.00	\$0.00	\$75.00
1.00	OTHER	OUTSIDE PART	WINSHIELD R	REPLACEMENT	\$526.33	\$526.33	\$0.00	\$526.33
1.00	OTHER	SHOP SUPPLIES	SHOP SUPPL	IES	\$3,550.00	\$3,550.00	\$0.00	\$3,550.00
5.50	LABOR	FLES	GENERAL LAI	BOR	\$125.00	\$687.50	\$0.00	\$687.50

 Labor Total:
 \$64,156.25

 Parts Total:
 \$72,970.84

 Consumables:
 \$0.00

 Freight:
 \$0.00

 Other:
 \$9,056.05

 Tax:
 \$0.00

 Total:
 \$146,183.14

Payment Terms: 45 DAYS FROM INVOICE

Name:

Signature:

Date: